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GENERAL SCIENCE (REGULAR) (PART-II)

SAMPLE QUESTION PAPER FOR HSC EXAMINATION, 2014

Time : 112 Hrs Total Marks —50

INSTRUCTIONS :

A. There are Five Questions in this part of the question paper.

W

All the questions are compulsory and all are having internal options.

O

Draw figures where ever required.

O

The numbers at right hand side represent the marks of the question.

1. (a) QKIRE 60 A2 QYR &I IR ZIINRIRIA FIOQ ZIEAIR JOARS Q€I | A1 YR
QRI2IQ QeI ? ®
Explain with the labelled diagram the light refraction through a glass cube in
the air ? What is lateral displacement ?

OR — @4l

Qe JRFEa galde @ad 24, 99 JaIgs AR 24l aa | Rdie! AIed 9]
@9 ?
Describe with an experiment how the dispersion is occured in a glass prism.

Why the rainbow is formed ?




(b) 6gfra @Jdeg Fa9 6 6gfre Qlaeg Ga¢ 6ad | ®
Write Flemings Right Hand and Flemings Left Hand Rule ?
OR — @1l
Bow AN 6AH I6° GIEGR QUINY @A FQUQ JEOEUUR LRI G YRR 6RE ?

Write Ohm’s Law and with mathematical derivation, define resistance and

write its unit ?




(c)

(@)

ARPR 9FPER 25 cMQ A LRBI6R 6@193 9¢ AR6M 0 9807 FIPG A8 QYL
Q@ ? ®
Why the eye is not able to see properly. If the object will be the distance less
than 25 cm ?

OR - @9l
JGideea 5A QIR MGEER, 66016 L00W Qe FIRER QIR0 62IRdIRe ?

In electric circuit, if 5A fuse where it is used. How many electric bulb is

used ?

gae g9 @I@G@I@I@@Q 6ddaa @10 @’8l ? ¥2IQ J0R REMYE, B0, LA FUCIER
QeI ? ®
Write the name of first compound of saturated hydrocarbon ? Explain its

configuration by electron dot.

)

OR - @4l

Q2 eI 98 @' ? QPR ARA FQIe XU 6ITR QT PR, A2 FERY
cdlde Q8 @6a ?

What is covalent bond ? Why carbon is not forming electrovalent

compounds ?




(b) RRIEQ QPG @' ? FILE Y@ ARG AT ? 92Ig FUR go6aI 9A62e ? ®
What is rusting in iron ? Why it is formed ? How rusting is protected ?
OR - @9l
AR AIAARSR ANRQS @' ? ARILQS G2 ? AAARR ANRAEG FILE AR
RAUAN ? RIQQ A )& ?

What is balanced chemical equation with an example ? Why it is balanced ?

What is oxidants ?




(c) G92E JQ 6926Q 6T 62IRG6R IR FIE @9 ? @

(@)

Why the pain is felt it the leaf of Bichuati penetrated in the body ?

OR - @8l
RAGAN 99 a8 9oRIdIR 6A1RR, caId e JIR IR 9IR GRIRER Y2 }IDE
ML @4 ?

Why alminium is used for utensils, inspite of it is a highly reactive element ?

@ 906 GQYe QIelp 928 ? 9@ 69ITN 400W 60gF6Q0Q G99 8 A4l Qlem,
6062 30 GR6Q YFG I8 4 CFIER 6R6Q Yo 6QQIQ UG ? ®

What is a unit of electricity ? If the refrigerator with 400W, run for 8 hours per

day, how much electric charge we will pay for 30 days at the rate of 04
rupees per unit ?
OR — @1l
Q648 IR 9 37 JBEUMER NMRLIQ 62@2Q AGIAR IR @R -
(@) € 676 9 6B goeU A2 BV QUIECR! @ 6T
(9) €9 6768 9 BA gG6UU A2 4V QUIECR! AABAUR LELITER

In a circuit of 20hm resistance, compare the power ?

() One ohm and 2 ohm resistance with 6V battery in series connection.

(i) 12 ohm and 2 ohm resistance with 4V battery in parallel connection.




(b) 0R2 RIER 6A15e 9RFa FeRl 6G /Q ?
Draw the configuration of two cyclic carbon compound ?
OR — @1l
ACNS 996 8 AL JRGa 9F 2QI6q pH 63 68 @] ?

Draw pH scale according to increase acidic and basic characteristics ?




(€) REQQ AN AAIRE 69 @Q ?
Draw a labelled diagram of ovary of a plant.
OR — @1l
AR 2004Q QIIF0RR QAIEE 60 @ ?

Draw a labelled diagram of external feature of human heart.

(d) @191 RERPQ QG UARIAG! 6RSH ?
Write two bad effects of fossil fuel ?
OR - @9l
JeYI6Q YUJATRQ QLRI 6RS ?

Write role of decomposers in ecosystem ?




4. (a) UeRNCHYIS Yl @8 ? AR gRd QeI ?
What is photosynthesis ? Explain light reaction ?
OR — @1l
AAFARR @’ ? 92Ia FEQ Y gee @'4 edal @ ?

What is mitosis ? Write what are different stages of mitosis ?

(b) 98rgI6Q AOGR QAR YA QSN @Y ?
Give notes on structural components of ecosystem ?
OR - @8l
6019Q QUIY 9I4Q S09Q 2rd 9@ 94l @Q ?

Describe the different parts of a Gobar Gas Plant ?




(@) “620x RARS” Q€I ?
Explain biological oxidation ?
OR — @1l
“eagigl dARIRel” QY ?

Explain watershed management ?

(b) QIg 6RITQ FOR B R4 6RH ?
Write the structure and function of nerve cell ?
OR - @«
6008 G1C PRR 2R QIdY Q4RI @R ?

Describe the function of Kidney other than excretion ?

—=10-:



(C) 691GN QQILQE A2 RIAYIARIG QEIZ ? @)
Explain the endangened species with an example ?
OR — @1l
PEQ IRIQ 60Q 69 ?

Write the types of fermentation ?

(d) 98QIQ FELRR JNEQ QAT QI 6 ? ®
Write the two methods of family planning ?
OR — @1l
QQI2QE A2 ARG @ ULQU UF @& 6mel ?

With an example, write what are homologus organ and analogous organ ?
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